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SEEWEE | EBH EREE S TR E T om ERE | mx
EX BIE-ERE (KR TUR- BEEEE 1K R4.7.12~9.30 4,664.0 =T
EX BE-FRET | TR RS 1K R4.7.30~10.31 3,531.0 =T
EEHEREHI | BE-RE (BT KERE-RE-HE 1K R4.4.8~R4.5.31 1,639.0 =T
EEERBHR | AE-RE (AT THREAVHILIVL (KERE-BE-FE X R4.7.11~R5.1.15 8,052.0 =T
EEHEREHR | BE-REF (2300 V KERE-RE-FEF 1K R4.9.28~R4.10.27 1,980.0 =T
EERBREHH | AE-REG |BRREEOREEER KERAE-E-FE 1K R4.8.1~R4.11.30 6,941.0 =T
FHEHFHH | BE-HEH (BEEA—ToD=Y KERE-RE-FEF 1K R4.8.11~R4.11.10 4,653.0 =T
EEHEREHR | BE-REF (23— 0ZV KERE-RE-FEF 1K R4.8.5~R4.11.4 2,618.0 =T
EEERBHR | AE-RE (AT THREAVHILIVL (KERE-BE-FE X R4.10.27~R5.3.22 7,942.0 =T
FMEREHA | ARG (RS LA REEEE 1K R4.9.1~R5.3.15 4,554.0 =T
FRRWEHREHH | BE-FREF |(HRAet Lo BEEEE 1K R4.5.17~7.31 1,474.0 =T
FREREHA | ARG (RS LA BEEEE 1K R4.7.15~R5.2.28 2,502.5 =T
FRRREHA | AE-HEH (KA KbEE BEEEE 1K R4.9.20~R5.3.28 3,091.0 =T
FRRWEREHH | BE-FREF |(HKXsE DK BEEEE 1K R4.9.1~R5.3.28 44220 =T
FREREHA | AE-HE (KA Dvvd BEHRE 1K R4.7.4~12.28 5,258.0 =T
IREEREHA | AIE-HE (B0 K BEEEE 1K R4.9.20~R5.2.28 7,843.0 =T
SREEREHA | AIE-HE | () REBIVSLLE BEHRE 1K R4.12.25~R5.3.15 5,742.0 =T
IREEREHA | AR5 LEER () REBEE XA BEEEE 1K R4.10.28~R5.2.28 2,794.0 =T
KREEREHBT HE () 7ok— UAVEERIE A=0.7ha R4.7.8~R4.9.30 990.0 ET
WAREREHAR | BE-&E (BWITFT71v7 BE-a&E 1K R4.4.27~R4.10.31 14,454.0 =T
WARBRBHA | AR-HE |(WHTTHREIVYILIUL AIE-FE 1K R4.4.27~R4.10.32 13,772.0 =T
KETEHFHA | BIE- & [LEERHASH BEEEE 1K R4.4.5~R4.6.30 3,047.0 =T
KETEHFHA | BE- & [LEERHASH BEEEE 1K R4.6.24~R4.11.30 4,070.0 =T
KETEHFHA | BE-H5 |(MASHRBEWRETEER |HERGT 1X R4.7.19~R4.10.31 4,026.0 =T
*EREEHA | Mg g (FLSHIETTISVE gt 1xt R4B22~RA1130 | 20570 | T
FomaEnm | g (oot BAMSHTEE |rgmeameriani 1t | Res27~Ra103 a0 | =T
LEEHREHRA | BE-RE |REHTHRE KAt BEEEE 1K R4.9.7 ~R4.12.20 4,059.0 xT
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TRNBHEHRT | BE-RE (AHTTHREIV YLV [BIERE 1K R4.8.11~R5.1.31 10,241.0 =T
TRNBHEHRR | AE-RE (AHTTHREIV YLV [BIERE 1K R4.8.11~R5.1.31 13,618.0 =T
TRNBHEHR | BE-HE |(BRTORB BEEEE 1K R4.8.11~R5.3.20 8,833.0 =T
TRNBHEHR | BE-HE | REEHIVYILIVMY BEHRE 1K R4.9.1~R5.1.31 2,728.0 =T
TRNBHEHR | BE-& (B7OTV0 BEEEE 1K R4.8.11~R5.1.31 9,944.0 =T
TRNBHEHRR | BE-HE | REEHIVYILIVMY BEHRE 1K R4.8.8~R5.1.31 2,761.0 =T
TRINEBERAR | BE-RG |[REMEIPILI M BEHRE 1K R4.9.5~R5.1.31 5,544.0 =T

34 180,218.5




